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Note : Answer all the questions as per the given 

instructions. 

1. Match the items of Column A and  

Column B :  5×1=5 

 Column A  Column B 

(i) Fungi (a) Nostoc 

(ii) Monera (b) Protostele  

(iii) Anthoceros (c) Blue-green 

algae 

(iv) Psilotum  (d) Green algae 

(v) Chlamydomonas (e) Chytrids 



 [ 2 ] LSE–12 

C–2445/LSE–12 

2. Choose the correct alternatives from the 

parenthesis of the following statements :  

10×1=10 

(i) Lycopodium is also known as (club 

moss/reindeer moss)  

(ii) Agar is obtained from (Gelidium/Fucus). 

(iii) The reproductive structure of Fucus is 

termed as (conceptacle/receptacle).   

(iv) Principal photosynthetic pigments are 

chlorophyll (a and c/a and b) and 

carotenoids in Brown algae.  

(v) Microalgae (Ulva/Spirulina) is used for 

the treatment of waste water.  

(vi) The fungal cell lacks 

(chloroplasts/protoplasm). 

(vii) When the fusing gametes come from 

different mycelia, the fungi is referred 

to as (homothallic/heterothallic). 

(viii)Loose smut of wheat is caused by 

(Puccinia recondita/Ustilago tritici). 



 [ 3 ] LSE–12 

C–2445/LSE–12 P. T. O. 

(ix) Lichens represent symbiotic association 

of a fungal partner with (virus/algae).  

(x) In bryophytes, the protonema is 

(haploid/diploid). 

3. (a) Identify the following statements as 

True or False : 5×1=5 

(i) In Rhynia, sporangia are lateral. 

(ii) Pyrenoids are present in the 

chloroplasts of green algae. 

(iii) Mycorrhizal fungi provide 

phosphorus to the plant. 

(iv) Crop rotation helps in minimizing 

the soil-borne infection. 

(v) Spermatia are formed in aecial cup.  

(b) Give a detailed account of the disease 

cycle of red rot of sugarcane with 

diagram. 5 

4. Write answers for any six of the following 

questions :  6×5=30 

(i) Describe the ultrastructure of algal 

chloroplast.   

(ii) Describe the life cycle of Ulothrix with 

the help of a well labelled diagram. 
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(iii) Describe the role of algae as a source of 

animal feed and bioaccumulator of toxic 

pollutants.  

(iv) Discuss the major morphological forms 

of lichens.  

(v) What is the importance of mycorrhizal 

association to plants ? 

(vi) Describe the method of vegetative 

reproduction in Riccia. 

(vii) Describe the role of bryophytes as 

indicators of air pollution. 

(viii)What is heterospory and what is its 

biological significance ?  

5. Write detailed answers for any two of the 

following questions : 2×10=20 

(i) Explain apogamy and apospory in 

pteridophytes. What factors induce 

apogamy ?  

(ii) With the help of a diagram, describe the 

concept of endosymbiosis. 

(iii) Compare the prokaryotic and 

eukaryotic cell with the help of a well-

labelled diagram. 

(iv) Write in detail the different types of 

reproduction in Funaria. 
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 LSE–12 

foKku Lukrd (ch- ,l-&lh-) 

l=kar ijh{kk  

twu] 2025 

tho foKku 

,y-,l-bZ-&12 % ikni fofo/krk—I 

le; % 3 ?k.Vs   vf/kdre vad % 75  

uksV % funsZ'kksa ds vuqlkj lHkh iz'uksa ds mÙkj nhft,A 

1- dkWye ^v* vkSj dkWye ^c* ds enksa dk feyku dhft, % 

5×1=5  

   dkWye ^v*    dkWye ^c* 

(i) dod (a) ukWLVkWd 

(ii) eksusjk (b) Bkssl (izksVksLVhy) 

(iii) ,UFkksfljkWl (c) uhy&gfjr 'kSoky 

(iv) lkbZyksVe (d) gfjr 'kSoky 

(v) DysekbMkseksukl (e) dkbfVªM 
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2- fuEufyf[kr dFkuksa esa dks"Bdksa esa fn, x, fodYiksa esa ls 

lgh fodYi dk p;u dhft, % 10×1=10 

(i) ykbdksiksfM;e dks (Dyc ekWl@jsufM;j ekWl) Hkh 

dgrs gSaA 

(ii) vxkj dks (ftyhfM;e@¶;wdl) ls izkIr fd;k tkrk 

gSA 

(iii) ¶;wdl dh tuu lajpuk dks 

(dalsIVsdy@fjlsIVsdy) dgrs gSaA 

(iv) Hkwjs 'kSokyksa esa eq[; izdk'k&la'ys"kh o.kZd 

i.kZgfjr@DyksjksfQy (a vkSj c/a vkSj b) vkSj 

dSjksfVukWbM~l gksrs gSaA 

(v) lw{e'kSokyksa (vYok@Likb:yhuk) dk mi;ksx 

vif'k"V ty ds mipkj ds fy, fd;k tkrk gSA 

(vi) dodh; dksf'kdk esa (DyksjksIykLV ;k gfjryod@ 

thonzO; ;k izksVksIykTe) ugha gksrk gSA 

(vii) tc ;qXeu djus okys ;qXed fHkék 

dodtkyksa@ekblhfy;e ls vkrs gSa] rks dod dks 

(leFkSylh@fo"keFkSylh) dgrs gSaA 
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(viii)xsgw¡ dk 'yFk daM@ywt+ LeV (iDlhfu;k 

fjdkWfUMVk@vfLVysxks fVªfVlkbZ) ds dkj.k gksrk gSA 

(ix) ykbdsu dod Hkkxhnkj ds (fo"kk.kq@'kSoky) ds lkFk 

lgthoh lEcU/k dks izn£'kr djrs gSaA 

(x) czk;ksQkbV~l esa izksVksuhek@izFke rarq (vxqf.kr@ 

f}xqf.kr) gksrk gSA 

3- (v) crkb, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

5×1=5 

(i) jkbfu;k esa chtk.kq/kkfu;k¡ (LiksjsfUt;k) ik'oZ 

gksrh gSaA 

(ii) ikbjhukWbM~l gfjr 'kSokyksa ds gfjr 

yodksa@DyksjksIykLV esa ik, tkrs gSaA 

(iii) dodewyh dod ikS/kksa dks QkWLQksjl iznku 

djrs gSaA 

(iv) Qly pØ.k e`nk&tfur laØe.k dks de 

djus esa lgk;d gksrk gSA 

(v) vpy iqe.kq@LiesZf'k;e bZf'k;e diksa esa curs 

gSaA 
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(c) xUus ds yky foxyu@jsM jksV ds jksx pØ dk foLr`r 

o.kZu dhft,A 5 

4- fuEufyf[kr iz'uksa esa ls fdUgha N% ds mÙkj fyf[k, %  

6×5=30 

(i) 'kSokyh; gfjryod dh ijklajpuk dk o.kZu 

dhft,A 

(ii) ;wyksfFkzDl ds thou pØ dks lqukekafdr fp= dh 

lgk;rk ls o£.kr dhft,A 

(iii) tarq pkjs vkSj fo"kkDr iznw"kdksa ds tSolap;u ds lzksr 

ds :i esa 'kSokyksa dh Hkwfedk dks crkb,A 

(iv) ykbdsuksa ds eq[; vkdkfjdh; :iksa dk o.kZu 

dhft,A 

(v) ikS/kksa ds dodewyh lkgp;Z dk D;k egRo gS \ 

(vi) fjfDl;k esa dkf;d tuu dh fof/k dk o.kZu dhft,A 

(vii) ok;q iznw"k.k ds lwpdksa ds :i esa czk;ksQkbV~l dh 

Hkwfedk dk o.kZu dhft,A 

(viii)fo"kechtk.kqrk (gsVjksLiksjh) D;k gksrh gS rFkk bldk 

D;k tSfod egRo gS \ 
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5- fuEufyf[kr esa ls fdUgha nks iz'uksa ds foLr`r mÙkj nhft, % 

2×10=20 

(i) VSfjMksQkbVksa esa vi;qXeu (,iksxseh) vkSj 

vichtk.kqrk (,iksLiksjh) dk fooj.k nhft,A 

dkSu&ls dkjd vi;qXeu dks izsfjr djrs gSa \ 

(ii) fp= dh lgk;rk ls] var%lgthou dh ladYiuk dk 

o.kZu dhft,A 

(iii) izksdSfj;ksfVd (iwoZdsUnzdh) vkSj ;wdSfj;ksfVd 

(llhedsUnzdh) dksf'kdk dh rqyuk lqukekafdr 

fp=ksa dh lgk;rk ls dhft,A 

(iv) ¶;wusfj;k esa tuu ds fofHkék izdkjksa ds ckjs esa foLrkj 

ls fyf[k,A 

× × × × × 

 

 

 

 

 

 

 


